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(KIS 2R 0.087 = 15,496 % ( 4.84/100 ) X _(5.95/4.84 ) Y 10,600 | | ||

(RS SR 0.0738 = 15,496 < ( 7.43/100 ) X _(]25.57/( 7.4B+6.02+4.5142.83 ) ) /|19,200 | . _________|

(R2MFHLRL  0.0532 = 15,496 < (6.02/100 ) X _(]25.57/( 7.43+6.02+4.5142.83 ) ) /21,600 |

(R3MFHLEL  0.0369 = 15,496 < ( 4.51/100 ) X (]25.57/( 7.43+6.02+4.5142.83 ) ) /| 23,300 |

(RAMFHLEL  0.0246 = 15,496 < ( 2.83/100 ) X _(|25.57/( 7.43+6.02+4.5142.83 ) ) /[ 22,000 |

\ZISEHCR 1,004 = 15,496 X (1 66.38/100 ) X _( 68.48/( 66.38+1.71) ) /10,300 | _ | |

| Z2MRSEHCR 2. 4907 = 15,496 X (1.71/100 ) X _(]68.48/( 66.38+1.71 ) ) |/ 107____| | |
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LoX AT ]
1+ (34.1/100_ X_15,400/19,200 + 14.8/100 X_18,700/22,000 + 8.54/100 X |20, 300/23,1300_+ 7.66/100 X 18,500/21,600 ) _____________ ... __|
| X 65.55/(34.1+14.8+8.54+7.66 ) | | L. L\
1+ (27.75/100_ X 2,600/1,230 + 2.42/100 x_93/107) |\ L L\
X 30.18/(27.75+2.42 ) | | | L.l
|+ (100-4.27-65.55-30.18 )j100.} | | Ll
= L2710 CHASENMT SO L) L]
e A

i
KURFHCR  0.0062 = 1,054.9 X (4.25/100 ) X _(4.27/4.25) /8807 | |
RUBFIHCR  0.0189 = 1,054.9 X (34.1/100 ) X _( 65.55/( 34, 1+14.8+8.54+7.66 ) ) / 19,200 |
(RoMFIECRL  0.0072 = 1,054.9 X (14.8/100 ) X _{ 65.55/( 34.1+14.8+8.54+7.66 ) ) / 22,000 | . .
(RSMFIECARL  0.0039 = 1,054.9 X (8.54/100 ) X _{ 65.55/( 34.1+14.8+8.54+7.66 ) ) / 23,300 | .
(RAMFIECR  0.0038 = 1,054.9 X (7.66/100 ) X _{ 65.55/( 34.1+14.8+8.54+7.66 ) ) / 21,600 | .
ZUSECR 0.2401 = 1,054.09 X (27.75/100) X [(30.18/( 27.75+2.42 ) ) /1,220 | | ]
Z2MSIECR 0.2387 = 1,054.9 X (2.42/100 ) X _(30.18/(27.76+2.42 ) ) /107 | ]
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Hith  faft 400kg# 8 2 800kgLl ¥ AfH A4 D A3 48 HL AT 5, 884 8 1155 Ty — Al 3

BHBER |
PRSMKHENAE ] .
SREAX L.
LCI7/100 X 11,900/10,600) b b
LOXC204/NT L.

1+ (21.19/100_ X _18,500/21,600 + 19.57/100_ X _15,) * 15.83/100 | x_20,300/23,300 + 3.73/100 X 18,700/22,000 ) _____________ |

| X 72.38/(21.19+19.57+18.8343.73 ) .| | L

£ (6.02/100 X 93/107 ) |\ ) |l

S 7 Ot

1+ (100-20.4-72.38-7.22 )/100 } _______________| | Ll

= 5,305 CHAMECFIUMT BRI EVF) ).

. O

&
KURSECR  0.1133 = 5,884 X (17/100 ) X (2004/17) /10,600 | |
RUBSIECR  0.0693 = 5,884 | X (21.19/100 ) X (| 19+19.57+15.83+3.73 ) ) /21,600 | .
(RoMFHCRE  0.072 = 5,884 X (19.57/100 ) > (72.38/( 21.10+19.57+15.83+3.73 ) )|/ 19,200 | .|
(RSB HCR  0.048 = 5,884 X (15.83/100 ) x_(72.38/( 21.10+19.57+15.83+3.73 ) )| /23,300 |\ |
(RAFFHCR  0.012 = 5,884 X (3.73/100 ) X (74.38/( 21.19+19.57+15.83+3.73 ) ) / 22,000 |\ .|
ZIBFHCR | 3.9704 = 5,884 X (6.02/100 ) X _(7.22/6.02 ) v 107 L |
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1+ (24.91/100_ X _18,500/21,/600 + 23.03/100_ X _15,/400/19, 200 + 18.63/100 | X_20, 300/123, 300 + 4.39/100 X 18,700/22,000 ) ___________________________|
| X 72.37/(24.91+23.03+18.63+4.839 ) | | L. L\
i+ (7.08/100 X 93/107) | .| | Lol
LOXTL22/T08 )
1+ (100-20.41-72.37-7.22 )00+ | | Lol
= 4,509 CHABENAT SO0 L) L]
e A
i
KURFHCR  0.0964 = 5,001.04 X (20.01/100 ) X |( 20.41/20.01 ) /10,600 _____ | oo
RUBFIHCR  0.0589 = 5,001.14 X (24.91/100 ) X |( 72.37/( 24.91+23.03+18.63+4.39 ) ) /21,600 |
(oG 0.0612 = 5,001.14 X (23.03/100 ) X |( 72.37/( 24.91+23.03+18.63+4.39 ) ) /19,200 _____ |
(R3MFIECAL  0.0408 = 5,001.14 X (18.63/100 ) X |( 72.37/( 24.91+23.03+18.63+4.39 ) ) /23,300 ___ |
(RAMFIECR  0.0102 = 5,001.14 X (4.39/100 ) X _(72.37/( 24.91+23.03+18.63+4.39 )|) /22,000 _____ |
ZUSECR | 3.3748 = 5,00104 X (7.08/100 ) X _(7.22/7.08) /107 L | ]
50 B




27 |7 VErAME K Tt B A 6, 151 T4 EIT2T H3F B BEAHEE T
Bk [BEfE 800kg% it X 1200kglh T FLAEfEA M L 88 4 AT 6,877.8 W 148 TNy A — A ER F
o i | MBI BE | we e e i et
K e 18.13%| e
K T s e RS IO anase o o H2ETseYe
o COMEER 0.35%| el
I e e 75.46 %| ~ fm et
Rl Eﬁ;fgﬁé ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 95.18% 0.092 ﬁ ,,,,,,,,,,,,,,,, 12388 RO102/R01003/A-01-01-01__
R2 ggfgﬁ;; ————————————————————————————————— 22.1 %| 0. 0718————5\\— ———————————————— ;fggg RO114/R01021/A-01-01=01 ___________]
R3 ff;;ﬁ%g& ————————————————————————————— 20.32%| 0. 0612————5\\— ———————————————— ;gggg RO125/R0O1001/A-01-01=01 ___________]
Re Eﬁ%’;ﬁé ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 6.39%| 0. 0204,,,,5\\, ,,,,,,,,,,,,,,,, 10 RO101/R01002/A-01-01-01 |
o COMOTE) LaTopl b
A e T 6.41%]| b
7 ?%F%g?"f*é%"??ﬁéi}ia Slﬁb%‘:m ,,,,,, 6.29%| 4. 1203312j 7006702002/7304010070/7304010090/Z3
o (COMMRY 0.12%| b
51
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Hith  fEft 800kg#z 8 2 1200kgbl T LR A 4 L A3 48 HL AT 6, 877.8 8 1455 Ty — Al 3
BHBER [l bl
PRERMCHERM L]
=68TT8X ]
L (17.78/100. X 11,900/10,600 ) ______________} | Ll ]
COXBBATTIS ]
1+ (25.18/100_ X _15,400/19,200 + 22.1/100 X_18, 500/21,600 + 20.32/100 X_20,300/23,300 + 6.39/100 x 18,700/22,000 ) ____________________________|
| X 75.46/(25.18+22.1420032+6.39 ) | | L L\
1+ (6.29/100 X 93/107.) | ..} | Ll
LoXC6AV/6.29 )
i+ (100-18.13-75.46-6.41 ) j100. } | | L L
= 6,151 CHAMFWNMT UBEO D L) L]
e A
i
KRG 01177 = 6,877.8 X (17.78/100 ) X |( 18.13/17.)78 ) /10,600 | |
RUBFIHCR  0.092 = 6,877.8 X (25.18/100 ) X _( 75.46/( 25, 18+22.1+20/32+6.39 ) ) /19,200 |
(RoMGIECRL  0.0718 = 6,877.8 X (22.1/100 ) X _{ 75.46/( 25.18+22.1+20.32+6.39 ) ) /21,600 _______ |
(RSMFIEARL  0.0612 = 6,877.8 X (20.32/100 ) X |( 75.46/( 25.18+22.1+20.32+6.39 )|) /23,300 _____ | ..
(RAMFIECR  0.0204 = 6,877.8 X (6.39/100 ) X _{ 75.46/( 25.18+22.1+20.32+6.39 ) ) /22,000 ______ |
ZISECR 4.1203 = 6,877.8 X (6.29/100 ) X _(6.41/6.20) /107 L | ]
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=8,806.4X L.
(1. 21.86/100. X [11,900/10,600 ) ______________| |l
0 B
1+ (27.21/100_ X _18,500/21,600 + 14.09/100_ X _20,, * 6.65/100 < 18,700/22,000 + 5.8/100_Xx 15,400/19,200 ) |
| X 64.49/(27.21+14.09+6.65+5.8 ) | | | L
£ (7747100 X 93/107 ) oo p L
S P L O
1+ (100-26.23-64.49-9.28 ) 100} | | L L
= 3,061 CHAMECRIONT BRI B0F) ).
. O
HE
KURSEECR  0.0819 = 3,306.4 X ( 21.86/100) X | 86 ) /10,600 | |
RUBSIECE  0.05 = 3,306.4| X (27.21/100 ) X (| 21+14.09+6.65%5.8 ) ) y 21,600 | .|
R2MASTHCRE 0.024 = 3,306.4 X ( 14.09/100 ) X _( 64.49/( 27, 21+14.09+6./65+5.8 ) )|/ 23,300 |
(RSBFHCR  0.012 = 3,306.4 X (6.65/100 ) X _(|64.49/( 27.21+14.09+6.65%5.8 ) ) /22,000 |\ |
(RAFFHR  0.012 = 3,306.4 X (5.8/100 ) X (64.49/( 27.21+14.09+6.65+5.8 ) ) /|19,200 |\ |
ZIBSIHECR | 2.8677 = 3,30604 X (7.74/100.) X ( ) /10T ]
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Hith  fEft 80kg#z #8 2 400kg bl T LR £ #E L A3 48 HL AT 2,810.4 185 Ly — Al 3
BHBER [l bl
PRERMCHERM L]
=28104X L]
L (265.71/100. X [11,900/10,600 ) ______________} | Ll ]
oX26.22/25.71 0|l ]
1+ (32.01/100_ X _18,500/21,/600 + 16.58/100_ X _20,[300/23, 300 # 7.82/100 _18,700/22,000 + 6.83/100 x 15,400/19,200 ) ______________ |
| X 64.5/(32.01+16.58+7.82+6.83 ) | | L. L\
it Co.1/100 X 93/107 ) L b
LoX09.28/9. 0
1+ (100-26.22-64.5-9.28 )/100 } | | L L]
= 2,602 CHABFNMT UBEOID L) L]
e A
i
KURFHCR  0.0696 = 2,810.4 X (26.71/100 ) X |(26.22/25.)71 ) /10,600 | oo
RUBFIHCR  0.0425 = 2,810.4 X (32.01/100 ) X |( 64.5/( 32.01+16.58+7.82+6.83 ) ) /21,600 |
(RoMSIECR  0.0204 = 2,810.4 X (16.58/100 ) X |( 64.5/( 32.01+16.58+7.82+6.83 ) ) /23,800 | .
(RMFIECARL  0.0102 = 2,810.4 X (7.82/100 ) X _{ 64.5/( 32.01+16.58+7.42+6.83 ) )|/ 22,000 | .
(RAMFIECR  0.0102 = 2,810.4 X (6.83/100 ) X _{ 64.5/( 32.01+16.58+7.42+6.83 ) )|/ 19,200 |
ZUSECR 2.4375 = 2,81004 X (9.1/100 ) X _()9.28/9.1) /107 L | ]
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1 7.39 0.97
2 20 1.01
3 40 1.08
4 60 1.17
5 80 1.09
6 87.46 1.13
7 89.27 1.14
8 94.00 1.16
9 98.73 1.19
10 100 1.21
11 100.55 1.21
12 120 1.33
13 140 1.40
14 154.19 1.40
15 156 1.39
16 160 1.37
17 161.00 1.37
18 166.00 1.36
19 167.82 1.34
20 180 1.23
21 200 1.15
22
23
24
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26
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28
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AT ¢ 100 m 0.00
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L N= 1 f 1
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FE R
¢ 200 L= 56.1 m 56.1
s T T NIRRT
¢ 200 N= 17 % 17
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HILE HeE
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- 13 13 13 16. 1 10 0.0
HEF
- 26 26 26 56. 1 17 0.0
IV SR
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6.99 1 1 1 3.8 6.99 1 1 1 0.5 1
21.27 1 1 1 3.9 1 20. 27 1 1 1 0.5 1
40. 00 1 1 1 3.8 42.94 1 1 1 0.5 1
61. 46 1 1 1 3.8 61.88 1 1 1 0.4
88. 22 1 1 1 3.2 1 88. 22 1 1 1 1.1 1
99. 78 1 1 1 2.9 1 99. 78 1 1 1 1.4 1
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